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B. Com. LL. B. (Hons.) Ill Semester Examination
COST ACCOUNTING (MAJOR)
Paper I
Time 3 Hours] [Max. Marks 80
[Min. Marks 32
dre: e ot ol F e AR !mmtﬁmﬁtqﬁmqﬁmﬁﬁ%ﬁimﬁrﬁzﬁﬁﬁw
g & g §
Answer any five questions. All questions carry equal marks. The blind candidates will
be given 60 minutes extra time.

1, e feiw A A A i gy ARt o e e |
Compare Cost Accounting with Financial Accounting and Management Accounting.

3 e St T T ad & 0 o gy oF el £t BT fifn
What is Cost Accounting ? Explain its objectives and advantages.

3, T:r,wfn%%ﬁqﬁﬁ#w%nﬁﬁm@ﬁimewﬁﬂﬁt}?ﬁaﬁmﬁrm
ﬂmaﬁﬁﬁammmqﬁrmnmwﬁﬁﬁm‘r%lwmnﬁag|wmraﬁﬁ':r:{éw}
Fyereadt snEET WTHT WAT (3) TF: AT W |
About 50 items are required every day for a machine. A fixed cost of T 50 per order is incurred for
placing an order. The inventory carrying cost per itemn amounts to ¥ 0.02 per day. The lead period is
32 days. Compute : (a) Economic Order Quantity and (b) Re-Order Level.

4 e P s & Rl st ¥ gearn A Rt wafe 1 = fiferg |
Discuss the different methods of pricing the materials issued from stores for production.

5. ufisra & srq AR 8 ?Wm%ﬁmﬂﬁ%ﬁﬁ%ﬁﬁﬁﬁmﬁﬁq |
What do you undersiand by Overheads ? Discuss the different methods of allocating Factory
Overheads.

6 Formwry wred 2019 wre § wewrET 1 0S 1,000 Tarsat amfya £

The following expenses are related to the Production of 1,000 units during the month of August
2019

¥
sreeq wTAt (Direct Material) 12,000
wage (Wages) 10,000
FrrarHT faar (Factory Rent) 1,000
woftrft ox g1 (Depreciation on Machinery) 1,000
AT FT A0 (Supervisor's Salary) 2,000
srreysr wTHAT (Indirect Material) 500
g=aer 99 (Indirect Labour) 300
sraterg =17 (Office Expenses) 1,500
w7 FTe@TAT =44 (Other Factory Expenses) 500
Frafeg Fad (Office Salaries) 1,800
guTs wa Eyrret (Printing and Stationery) 400
farwy =77 (Selling Expenses) 2,500

TR AT T PR S W G AT 9 e e B |
Prepare a Cost Sheet and show the percentage of various costs on Total Cost,

P. 1.0,
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@m‘w*-w‘a’ﬁvﬁmﬁﬁm@ ‘m’mm‘rmﬁmiﬁ%mm
Eﬁﬂmﬁaﬁmwg-mﬁﬁhm_mmﬁﬂhmmﬁmﬁﬁ% AT IIHT gE L
BT amr g 3y Wﬁ%ﬁm#m~wmwmrwm%mmaﬂr
Tyesy off -

Product passes through two processes *A> and ‘B”, Qutput of “A* is transferred 1o Process ‘g at
cost plus 25% profit and finished output js similarly transferred to Finished Stock Account at cost
Plus 25% profit, There Was 1o work-in-progress in cither process on 315 December, On this date
the following further information was available :

Sféar o giar ‘g

{Process A7) (Process ‘B’)

4 7

aTat (Materials) 8,000 24,000

R (Wages) 12,000 16,000
AT e, ot wrry e T

(Closing Stock, Va tued at Prime Cost) 4,000 12,000

¥ ¥ ¥

I T ARt (Wages and Materjal ) 30,400 12,000 29,250
FICHT TR0 (Works Overhead) 5,600 5,250 6,000
SIS ST # (Production in Units) 36,000 37,500 48,000
ST W, ey Tardyt .
(Opening Stock. Units from Preceding Process) - 4,000 16,500
HT e, e a2 THTigt

(Closing Stock, Units from Preceding Process) - 1,000 5,500
TH For+ft oy fay AT &t §

A company gives you the foﬂowing information :
7 (Year) fawy (Sales) AT (Cost)
Z

4
2020 25,000 24,000
2021 40,000 36,000

VT T - ( Calculate) ;
(i) wregmmET HTTT (Profit-Volume Ratio)
() v-farsde faw (Break-Even Sales)

(i) g ey o 109, mm%mﬁ'#ﬁqmﬁﬁ
(The sales required to earn 4 profit of 10% on Total Cost)
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0. Fre oted e wreke T A abue £
The following data related 10 Priva Pvt. Ltd.

i

20,000 wHErIat F7 #FFE 20 3 iy sFE FTRTH
(Sale of 20,000 units @ T 20 per unit) : 4 00,000
(=) wheadmsfier =4 (Variable Expenses) 320,000
Farre (Contribution) 80,000
(~) wardt =57 (Fixed Expenses) 60,000
A (Profit) 20,000

sra $1few ; (Find out)

() At e & - f (Break-Even Point in units and rupees)

(i) uﬁm-ﬁm&mz,mamﬁﬁwmﬁﬂﬁwwwﬁmfwgmmﬁﬂ?
(What should be the selling price per unit if Break-Even Point is brought down to 12,000
units 7)

(i) AT 0% o T B r Pt et Aeft Sl =R ?
(How many units should be sold to earmn 10% profit on sakes 7)

80 -/-I-I8
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mﬁﬁnﬁmﬁ'ﬁ&##ﬁtﬁmaﬁ?mw F ARG | FAYTF WET T
Explain the structure and main components of a banking company’s Balance Sheet. Draw the
necessary formats also.

U ATAT AT FerT F 31 9 2004 Fit gHTe By 3 & ﬁqﬁrﬁﬁﬁwﬁw-mmg :
A General Insurance Company has provided the following information. for the Financial Year
ending on 31* March, 2024 -

=Y (Rs.)
(1) =i Fifimw (Premium Earned) 5,00,000
(2) geeffar Siffws wtar mr (Reinswrance Premium Ceded) 50,000
(3) 9T 3 7% 2% (Claims Paid) 3,00,000
(4) % F T & 99797 2% (Claims o/s at the beginning of the year) 40,000
(5} 9% o7y & 99797 W (Claims ofs at the end of the year) 60,000
(6) e =r=HTT 97 e (Commission on Direct Business) 20,000
(7} T =l oo wftemT (Commission on Reinsurance Accepted) 5,000
(8) i #¥ar 7 v #ftr (Corumission on Reinsurance Ceded) 4,000
(9) H9TA7 =7 (Operating Expenses) 70,000

31 7, 2024 ﬁm@%mﬁ%mmmmﬁﬁq |

Prepare the Revenue Account for the year ending on March 31, 2024,
ﬂmmﬁ%mmw@%gmaﬁwg?wmﬁ |

What are the Final Accounts of an Insurance Company and why are they important ? Draw the
formats also.

T s & o 31 TRt 2023 ﬁﬁ‘ﬁﬁ'@?rﬂmﬁw‘i‘ﬁ'{%ﬂmﬁﬁﬁ:
Mandaar Limited has the following Assets and Liabilities as of December 31, 2023 :

T (Rs.)

() ==f (4@ am) (Machinery) (Original Cost) 2,00,000
wr g BT (Accumulated Depreciation) 50,000

(@) ™= 9= wrr (Inventory at Original Cost) 100,000
() 3= (Debtors) 80,000
(%) ST (Creditors) 60,000
(¥) 77 (Cash) 20,000

T4 2023 % Froer AT & e wtE 10% %1 75 g2, o wotedt (vwvwy) % P e 504 1 7t ghi
During the year, 2023 the Price Index of Machinery increased by 10% and for Inventory, it
inereased by 5%.
@Fﬁﬁ%fﬁaﬂm?m#@mﬁﬁﬁmﬂwm?,_mﬁﬁm?ﬁ?ﬁ%m#
aAvE B, ot 31 Rerar 2023 T H4iigT 9w ofte dae i
Using the Current Cost Accounting (CCA) Method, adjust the value of machinery and
inventory for inflation, and prepare the Revised Balance Sheet as of December 31, 2023,
TR ORI 7 7 a2 oo aremmar U= N T WHTS e |

What do you mean by Inflation Accounting ? Throw light on its Need and Importance.

wﬁﬂﬁmﬂﬁwg?mﬁ%ﬁfw%mﬁﬁﬁﬁaﬁﬁaﬂxmﬁﬁm*aﬁﬁw T HHATET |
What is Farm Aceounting ? Explain the difference between Cash Accounting and Accrual
Accounting in the context of Farm Accounting.
wﬁﬁﬁhﬂﬁ“wﬁw*ﬁwq?wﬁﬁﬁ | T HTY AT A Arawaar Frator 6
GERAZGILE 2 , :

Discuss the concept of “Cost of Production™ in Farm Accounting. How does it helps in determining
the Profitability of Farming Operations ?
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B. Com. LL. B. (Hons.) III Semester (New) Examination

ADVANCE ACCOUNTING
PAPER I
Time 3 Hours] [Max. Marks 80
[Min. Marks 32
drz:  Fdr ol vt F oo AR | el ot F s e 1 3R aifte ol ¥ Rl 60 Riffe it

Tug frawia g |

Answer any five questions. All questions carry equal marks. The blind candidates will
be given 60 minutes extra time.

1. 31 %74, 2024 #1 frifre arfeat £ff &5 Afee Hr g a g !
Following are the Balances from the books of Kirti Bank Ltd. as on March 31, 2024 :

#77 (Rs.)
=7Ts 9T {37 (Interest Received) 1,10,90,155
oIt 9% 5479 (Interest on Deposits) 72,70,605
sHter T a7 (Commission Received) 22.27,344
aeTeft (<) (Brokerage (Credit)) 3,10,292
97T A7 9% sars (Interest on Borrowing) 10,05,100
FHATAT &1 39+ (Salaries of Employees) 32,89,224
=Tt #1 9% (Allowances to Employees) _ 19,88,887
4T (Rent) 4,80,605
et (Lighting) 40,595
F2rdr (Discount) 60,10,111
frra Hf2e (Rent (Cr.) 1,55,398
#ftuT (Insurance) 1,50.405
w1l =47 (Legal Expenses) 34,879
s 9775 (Audit Fees) 20,000
faferyr srfrat (Miscellaneous Receipts) 2,56,280
&% &7 st 97 g1 (Depreciation on Assets) 30,115
ek wioa T % 2% 72 21 (Loss on Sale of Govt. Securities) 2,222
&% it grofRert € 90w (Repairs of Bank’s Property) 1,02,254
fafaer = (Miscellaneous Expenses) 5,84,314
T (Tax) 1,05,090
31 7T, 2024 Fr FUTH Brr qver A ¥ e AFF &5 Fr. F7 et @ s st ¥ g e

Y
(@) wiergfat oz grfa * o smaar 50,000
(@) e & o T 1,00,000
(@) gaw wo & R e 51,000
(8) WY gu el wge 31,100

From the above information, Prepare Profit and Loss Account of Kirti Bank Ltd. for the year ended
31% March, 2024 :

Rs.
(a) Provision for Loss on Securities 50,000
(b) Provision for Taxation 1,00,000
(¢} Provision for Bad Debts 51,000
(d) Rebate on Bills Discounted 31,100

30 S
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ave faffee & 01 sde, 2023 %1 1,000 w9 gox v 100 atve g3, Bk sy afdy Brag 1,050 w03
i atve off | aitve qz it s 2w 8% &, o et w0 @ 30 97 o 31 Rumr frimd
15 w¢, 2023 %1 77 Wfes F w78 § 50 atvz 1,080 =¥ 5f¥ aive se afgy g w3 729
3197+, 2024 %7 wATH I AT A8 ¥ Fo Five war 7 sgver wra A il
Varad Limited purchased 100 Bonds of Rs. 1,000 each (face value) on April 1, 2023, &t a cum-

interest price of Rs. 1,050 each. The bonds carry an annual interest rate of 8%, Payable Half-Yearly
on June 30, and December 31,

On 15 May, 2023 Varad Limited sold 50 of these Bonds at a cum-interest price of Rs. 1,080

each.

Prepare Bond Account and Interest Account for the end of the Year 31* March, 2024,

fereter sy & oo wf@e” o mre <Ra B smgronst f = S T srergrod iRy &
et F1 E warfRe w0

Explain the concept of ‘Cum-Interest’ and ‘Ex-Interest’ in Investment Accounting. How does these
concepts affect the Valuation of Securities 7

=/1/-/5



